Maths

Exira Activities

7+6=10+3 =13

12.11.20
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Here a few
extra
activities for
you fo try.
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| partitioned the 7 A
into 4 and 3 so that | o @

could make a full 10.
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Use Mrs Riley’s Method to complete:
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ANswers




Take it Further

bt FEITT aane
Iparﬂﬂonedainto4
and 4 to make it
easier.
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012345678 91011121314151617181920 used the
. fens frame
Use Mrs Riley's method to calculate: to help me
5+8= 9+4=ﬂ 6+8=: partition.

N
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A little morel

Mrs Riley has 7 sweets and Mrs Hounsell gives her 8 more.

How many sweets does she have altogether?

Show your calculation on the number line.
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7+3=10
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01234567 8 91011121314151617181920




Answersl!

Show your calculation on the number line.

oo oo®
2+3=10 @|®[O[O|O \
10+5=15 rSToTololo | @ @
N\ |
| 00Q olel®
| '... ) / |OO
\\/ 1
o 4
+3 +5
T T T T T T T T T T T T T T T T T TTT]
0123456 7 8 910111213141516 17181920

>



Have a go

Write a number sentence to describe what has happened on the
ten frames. Use the number line to find the answer.
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f Selve the problem and show yowr calcadanion on & number lne

1. Solve the [ Vo T r-p——

problem and nmm————
show your IR IEERER RN IR I IS T Y
workings as a —_—_ i O
calculation, on a e (o]
number line and
as a part whole— ey i
model.
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How Moy sweets does she have shegethes?
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Solve the problem and show your calculation on a number line

Jasmine has Qsweets and Ralph gives her Bmare sweets

How many sweets does she have altogether? _____
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Jasmine has Z sweets and Ralph gives her S.more sweets.
How many sweets does she have altogether? _________
bbb bbb s
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Jasmine has f sweets and Ralph gives her Zmare sweets.
How many sweets does she have altogether? ______
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@ Solve the problem and show your calculation on a number line

Jasmine has Qsweets and Ralph gives her Bmare sweets

How many sweets does she have altogether? 17
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Jasmine has Z sweets and Ralph gives her S.more sweets.

How many sweets does she have altogether? 12
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Jasmine has @ sweets and Ralph gives her Zmars sweets.
How many sweets does she have altogether? 13
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Well done Year 2. You
are fantastic. | can’t
wait to see your work.
Please send it to me
using our new class e-
mail:

year2@si-jo-
st.dudley.sch.uk




These are
blank tens
frames in
case you
need them.




